

A Statutory Body Of The Government Of India

DATE OF SUBMISSION: 9/27/2010 11:29:22 AM

APPLICATION ID: NRCAPP843

Mode of Payment: Cash Challan

Website: www.ncte-india.org

Particulars of the Authorized applicant

Name of the Applicant

: Ranjit Singh

Designation

: Chairman

Address

: 145-L Model Town, Ludhiana

E-mail Address

: doc\_garry@yahoo.com

Telephone No (Office)

: 0161-4616846

Telephone No (Resi)

: 0161-4616846

Mobile No

: 09888334006

Name of the Applicant/Organization/Socity/Trust

: Shri Guru Ram Das Educational And

Cheritable Trust

Postal Address of the Applicant

Plot Number

: 0

Street/Road

: Halwara-Pakhowal

Road

Village/Town/city

: Halwara

Post Office

: Halwara

Tehsil/Taluka

: Raikot

Town/City

: NA

State

: PB

District

: Ludhiana (PB)

Pin Code

: 141107

STD Code

: 01624

Telehpone No

: 0161-4616846

Fax No.

: 0161-2423552

E-mail ID

.....

Website Address

: www.sgrdce.org

sgrdtrust@yahoo.com

Permanent Account Number of Society/Trust/body

: AAHTS7055G

lage - 66



## National Council For Teacher Education

A Statutory Body Of The Government Of India

Details of Programmes other than Teahcer Education

Details of Programmes other than Teahers Education if any, run by the same Applicant /

Organization / Society / Trust

			T			
Name of the Institution	Name of the	Level of the	Duration of	Year of	Name of the	Date of
	Programme	Programme	the	starting the	Affiliating	Affiliation
			Programme	Programme	Board/Univer.	

lage-65



### National Council For Teacher Education

A Statutory Body Of The Government Of India

#### Particulars of Application Institution

#### Institution Information

Name of the Institution

: Shri Guru Ram Das College Of Education

Course Applied for

: D.El.Ed

Nature of Application

: New Recognition

Mode of Course

: Face

### Complete Postal Address[As mention in the Affidavit]

Land Identification (Plot/Khasara No.)

151,153,155,156

Land Title

: Halwara

Plot Number

: 0

Street Number

: 0

Village

: Halwara

Post Office

: Halwara

Tehsil/Taluka

: Raikot

Town/City

: NA

State

: PB

District

: Ludhiana (PB)

Pin Code

: 141107

Telehpone No

: 0161-4616846

Fax No.

: 0161-2423552

E-mail ID

: sgrdcedu@yahoo.com

Website Address

: www.sgrdce.org

Institute is for

: Coed

Institute is a Minority Institution

: No

Type of Management

: Private

(Please attach supporting documents. In case of institutions financed by Central Govt./State Govt./UT Admn. to the extent of not less than 50% of their recurring cost, a certificate to this effect from the Government concerned.)

Affiliating Body / University

Name

: State Council Of Educational Reserch And Training

Punjab

Address

: SCO. 66&67, Sector 17-A, Chandigarh

Telephone Nos.

: 0172-704395

Shri Guru Ram Das Educational & Charitable Trust,

145-L, Model Town, LUDHIANA

Page -64



# National Council For Teacher Education

A Statutory Body Of The Government Of India

Details of Existing Teacher Education Programmes/Courses

Details of Existing Teacher Education Programmes/Courses run by the same applicant

Society/Trust/Organisation

Name of the	Name of the	Date of	Existing	Recognit	Recognition	Name of	Date of
Institution	Programme	Commenceme	approve	ion	Order Date	Affiliatin	Affiliatio
		nt of the	d intake	Order		g	n
		Programme		Number		Board/U	
						niversity	

Page - 63



# National Council For Teacher Education

A Statutory Body Of The Government Of India

Details of already Submitted Application(s)

Details of the Application(s) for Teacher Education Programmes(s) already submitted by the same Applicant/Organization/Society/Trust which is/are pending for final decision

		1			1 19 101 1111011 01	1	
Name of the	Date of	Applicati	Name of	Academic	Proposed	Regional	Status
Institution	Application	on ID	the	session for	intake	Committe to	
			Program	which		whom	
			me	applied		applied	

Shri Guru Ram Das Educational

107.



A Statutory Body Of The Government Of India

#### Particulars of Funds

Details of the Endowment fund (self-financed institutions/programmes) (Please see Clause 10 (1) of the NCTE (Recognition Norms and Procedure) Regulations, 2007 published on 10.12.2007)

Particulars of the Endowment fund (to be filled in the case of self-financed institutions/ programmes)

Amount of Endowment Fund

: 500000

Fixed Deposit Receipt Number

: TDR/SSP A853516

Duration of the FDR (Minimum five years)

: 5

Date of issue

: 9/25/2010 12:00:00 AM

Name of the Nationalized Bank

: Oriental Bank Of Commerce

Full address

: O.B.C, Model Town, Ludhiana

Phone numbers

: 0161-5092839

FDR enclosed in original

: Yes

Particulars of the Reserve Fund (to be filled in the case of self-financed institutions/ programmes)

Amount of Reserve Fund

: 300000

Fixed Deposit Receipt Number

: TDR/SSP 0147440

Duration of the FDR (Minimum five years)

: 5

Date of issue

: 11/26/2009 12:00:00 AM

Name of the Nationalized Bank

: Oriental Bank Of Commerce

Full address

: O.B.C, Model Town, Ludhiana

Phone numbers

: 0161-5092839

FDR enclosed in original

: Yes



A Statutory Body Of The Government Of India

Details of Infrastructural Facilities available for proposed programme/course

Area of the land in possession (in sq. mts.)

: 20241.76

Built up area earmarked for the course (in sq.

: 1559.88

mts.)

Whether the building constructed / proposed to : Yes

be constructed on the same land.

Building

Please refer to Clause 8 of NCTE (Recognition Norms and Procedure) Regulations, 2007

Date of completion of construction of the

: 26/08/2010

building.

Name of the competent authority for approval of : Sarpanch

building plan and issue of completion certificate

Address of the competent authority for approval : Sarpanch, Gram Panchayat

of building plan and issue of completion

Village Halwara

certificate

Post- Halwara

Distt-Ludhiana

Whether Bldg. is disabled –friendly as per the

: Yes

law.

Total Built up Area (in sq. meter)

: 1559.88

Total Built up Area (in sq.ft.)

: 5117.72

Specification of Rooms and other infrastructural facilities

Description	Room No.	length in meter	Breadth in meter	Carpet area in sq.
Class Room	1	9.1	6.7	60.97
Class Room	1	9.1	6.7	60.97
Multipurpose Hall	1	15.24	6.7	102
Multipurpose Room	1	7.62	6.7	51
Seminar room / Tutorial room	1	7.62	6.7	51
				1/1

Page No: 7

Library	1	15.24	6.7	102
Principal Room	1	7.62	6.7	51
Administrative Office	1	7.62	6.7	51
Store Room	1	7.62	6.7	51
Sports Store Room	1	7.62	6.7	51
Girls Common Room	1	7.62	6.7	51
Boys Common Room	1	7.62	6.7	51
Art & Crafts Room	1	7.62	6.7	51
Music Room	1	7.62	6.7	51
Socially Useful Productive Work (SUPW) Room	1	7.62	6.7	51
Science Lab1	1	9.1	6.7	60.97
Science Lab2	1	9.1	6.7	60.97
Sychology Lab	1	7.62	6.7	51
Educational Fechnology (ET) / CT Lab	1	7.62	6.7	51
Educational Fechnology (ET) / CT Lab	1	7.62	6.7	51
Vorkshop	1	7.62	6.7	51
any other Room /	1	7	6.7	47
oilets (Male)	3	15	10	150
oilets (Female)	3	15	10	150



A Statutory Body Of The Government Of India

#### Details of Instructional Resources

Library

Total number of Titles

: 96

Total number of Books

: 1050

Journals

: 6

Computer Laboratory

No. of Computers

: 10

Internet Access

: Yes

LAN

: Yes

Academic Staff (Applicable for existing institutions)

Details of Academic Posts available at present

Name of the Post	Number of Post	Pay Scale	No.of Filled Posts	No. of Vacant
		p sec		Posts

**Technical Support Staff** 

Name of the Post	Number of Post	Pay Scale	No.of Filled Posts	No. of Vacant
				Posts

Administrative Staff

Details of Non-Academic Staff available at present

}			1		
	Name of the Post	Number of Post	Pay Scale	No.of Filled Posts	No. of Vacant
					Posts



A Statutory Body Of The Government Of India

### Arrangement for Games and Sports

Number of Playgrounds	iength in meter	Breadth in meter	Carpet area in sq.
1	18	9	162
1	13.4	6.1	81.74
1	29	16	464
1	91.40	55	5027

Website: www.ncte-india.org

Epidicant Coby TaxionarCound for Teather Education Hans Shalkan, New Delini	Institution Copy  TransprayCouncil for Teacher Education  Hans Bha van New Deiny
\$2	<b>N</b>
The PAN NO. Of NCTE: A A A L N 0 1 1 5 b  Name of Branch Model Town, Ludkiana  Date of Deposit 2 7 0 9 1 0  D D N N Y Y  (To be treated by applicant as fee receipt)  Account to be credited: 0036 SLFEEC OL	The PAN NO. Of NCTE: AAAL NO 11 5 D  Name of Branch Model Town, Ludhiana Date of Deposit 2 7 0 9 1 0  D D M M 17 7  To be treated by applicant as fee receipt  Account to be credited: 0036 SLFEECOL
. Institution Name FCNCTE	1./Institution Name FCNCTE
Student/ Applicant Name     Shri Guru Ram Das Educational And     Cheritable Trust	2. Student/ Applicact Name Shri Guru Ram Das Educational And Cheritable Trust
3. Roll no/ Application ID NRCAPP843	Cheritable Trust  3. Roll no/ Application ID  NBCAPPEGS  4. Class/ Region Code  5. Section/ Course applied  6. Amount in Rs
4. Class/ Region Code  NRC  NRC  NRC  NRC  NRC  NRC	4. Class/ Region Code  5. Section/ Course applied
4. Class/ Region Code  5. Section/ Course applied  6. Amount in Rs.	6. Amount in Rs
7. Amount in words Cash Details:  Denomination 1000	7. Amount in words Cash Details:  Denomination  1000
# Must be drawn payable at the centre of deposit of the instrument i.e. outstation instruments not acceptable.	* Must be drawn payable at the centre of deposit of the instrument i.e. outstation instruments not acceptable.